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RN 421 Osksktstskssteotsisk 83 1 G PIEBR iz EEk 100 352 87. 6
RSl 4305%Kkkkkkok k(0537 5 PRESSES EEEs 100 343 87. 15
T+t 1309ssksksstsiskeseok k651 3 % PIEBER iz EEk 100 307.5 85. 38
W28 i 331 Okokskkakokok k(0044 £ PIEBR B B 100 305. 5 85. 28
+ 7R 420 Tsskstoksokkok 28 19 P PEEK BBk 100 293. 5 84. 68
WA 2 500 1 sksksksokokokokokok ] 62X @ PEBR E 100 250. 5 82.53
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4 W55 A | Z3hWE BEFER | MERS | SR | SRE RS #iE
h—18 3406k 481 1 % FIEEK —ZRInE A 86. 98 315.5 76. 66
2L 5 411 5%kickopsoloeiek 753 1 5 FIEER — B E 5 82. 64 351 75. 4

b 110 sskokstorseok k5025 £’e PR —RiEH H 75.7 425. 5 74. 27
AR 1307 skskskskskskokkok 0010 ) oA Bk — K iadl 100 494. 5 94.73
XK 5104 kkkskskkoiok003 1 S X B —RIEE 96. 11 519.5 93. 25

T 430 1skskskskokdokokkok 1017 5 X B — 2RI B) 100 462 93.1
FH 57 Bk 370 1sksksksksksiskekk () 1 8X Be PR Bk — iz sl R 100 449 92. 45
AN 510 Iskskskktokkkx 0093 5 W BR — R IEH) 100 446. 5 92.33
ZEH Bk 530 Lsskskskktokokk 461 6 5 EEER —WisE 96. 11 482 91. 38
BIhE 431 3sksketsksrstoksikok (008X © ok — 2RI 100 307 85. 35
s 610 Dskskkdotokokk k832X i U iRn — R IEH) 94 320 81.8
B 610 skttt 4919 G S — 2RIz 5 88 292 76. 2
T2 110 1ssksktookkkk 2524 5’q N — R In ) R 7 375.5 72. 68
it 1309skskksdokskokkkk544 2 © eSS —RKizsl i 88. 81 522.5 88.29
2K T 421 Otttk 3223 7 iEE S E —RIBH) T 88. 27 505 87. 04
AT 230 2skskskstsksooksk 0624 5 P ST —EH R 93. 27 423 86. 44
YFFSIE 1201 skskkkskkx%0103 E’8 iEE S E — 2B 5 i 93. 33 421.5 86. 41
I JR 340 2skksokstkik 60520 © iEE S E — L IB A 5 91.6 438 86. 02
ARG 420 sskopsoiokorork 6624 E'S iEE S E —RIE ) T 94. 8 378 85. 26
Ly 350 3skkstokfiok k2928 5’8 iEE S E —RIiE 5 R 91.73 384. 5 83. 44
BRI 640 Jsoketstioletersiok 2522 LS RS —RIE 5 5 90. 6 399 83. 37
PMEZE 1407 xskkskskkskskskx 7103 @ EES (] —ia ) 90. 47 390 82. 83
FH K R 430 I kstkstoksiokeiskk 70 1 4 L FRZEIE — R is sl 92.13 364.5 82.72

Xl 5E 37 1 Gtttk 0640 i 28 —ZRiash i 100 394 89.7
=gy 3506 kkHskkokokkk (054 | i ZEH —ZRIBE) R 100 347.5 87.38
HeiE e 411 5kskrsoksokkk (0446 E'8 ZEH — iz 5 i 100 311.5 85. 58
P 110 L sesksstotoksotk 71 24 £’e ol — RGN B 88. 7 489. 5 86. 57
W 520 kkstototototokk (0027 i S g0l —RIB TN 87.7 497 86. 24
(EADSE 3703 skotsolotolok 21 29 7 FiE —Ri83) 51 94. 8 466. 5 89. 69
M Fh 1309kskkkskkx4%6136 5 ESG — R IEH) R 94. 1 467.5 89. 25
K IR 500 Lkskssokkrkokk4523 S FiE —RiEHh R 94. 7 453.5 88. 97
LR 320 Iskskskkodokokokk 3832 5 FiE — sl R 94. 2 454 88. 64
e 110 1sskskekookokkk 061 1 EE ES — R In T R 94. 2 417.5 86. 82
A ik 4206kkseiotorsolok 3244 LS FiE —Ris 5 5 93.5 417.5 86. 33
X g 3707 skopsioioiok 8038 % PRI — iz s i 96. 6 462. 5 90. 75
Tk 370 L skskskktokokok k688X @ R —Riash R 84 416.5 79. 63
25 Hif 3703tttk 0212 5 BRI — s E 7 89. 28 259. 5 75. 47
XIFHAL 3604sksriototeriorek 2418 % Zif —RiEHh R 97. 2 455. 5 90. 82
WEL 3302 kkk44kokokokk (0775 LS %55 —RinEh i 98 430 90. 1
HH—K 3302%kkxk4kk% %7035 EE Zi —iEE R 98 423.5 89. 78
W R Bk 2102skskkstskototonokok 27 38 B Za 1l — B F 5 98 423.5 89. 78
FRATAR 3302kkotolotiokok 2879 5 il —His 5 5 95. 2 443. 5 88. 82
BT 2R 420 1xskskkdokkkk551 4 EE Zith —RIET R 93.7 428 86. 99
FREE 350 3skkskkkdokkkx 007 3 5 Zi —RIZHN T 92. 6 401 84. 87
Bbiik 1504skssikoiorkx0052 L2 ik — B E 5 96. 2 345.5 84. 62
Ryt 1309skskskstskstoskteok k2410 ! =1 — iz sl in 98 285.5 82. 88

FRIR RN FF 140 T eotottoteolork6 724 7 7N —RIZF R 93.8 346 82. 96




4 W55 A | Z3hWE BEFER | MERS | SR | SRE RS #iE
KUE 431 3kskskkdotokokk 0260 i B PR 1B 3% 94. 65 289 80. 71
FHR 5 421 0tttk 2 1 54 G Bk 7K IE 92. 4 395. 5 84. 46
Tk BRE A452x5kk x5k k%% 121 4 Es Bk 18 S 91.13 372 82. 39
ikl 110 Lotttk 0360 -8 SRR | —ss A 95. 44 366. 5 85. 13
G SR 320 1 stttk 4 029 LS SRR | —JEE i 95.13 369. 5 85. 07
A 110 skt 1 923 5’8 SAREEE | —Rissh 91. 26 423.5 85. 06
RFEH 1309kttt 0048 5°q SAREEE | —Rissh i 92. 79 392. 5 84. 58
THE— 500 1kttt 0824 -8 SRR | s 90. 91 416 84. 44
FAR R 150 sskskstosok k4625 5’8 SR | —Rissh i 84. 86 491.5 83.98
Ik ik 4128k Akkk k(002X Be VOMEHEER s s 86. 1 386.5 79.6
X1 58K 210 2skskskstsksteotoksk 7419 LS MR | —Rissh i 86. 6 352.5 78.25
+rE 000 Ikskskoksktokk k2825 £ R R EBR —ZRIEH) R 91 436. 5 85. 53
X1 1] 2102kskkkskkokkk k2528 3’y BRFER — Rz sl R 92 361 82. 45
TR 3305%kkskkkdokkk %2810 5 B —RIEF) R 94. 5 404 86. 35
Xk 4110%H88kkkkk %9 260 i #n — szl R 88 374 80. 3
S ] 411 5aksckokok k9007 k'S BNZI0 | —gigsh i 97. 25 388.5 87.5
15 1303 soksttoloscok k2927 5’8 BRNZ=T0 | —Rissh i 95 235. 5 78. 28
FERR 430 3ststotopsoloeiek0296 5 HARER | —Rizsh i 93. 6 446. 5 87. 85
B ¥z 500 1skksteissstoiok k084X 5’8 HRARER | —Zissh it 93 449 87.55
PR 1306tk % 2866 5’8 HKARER | —Zissh i 93.3 439.5 87. 29
BISER] 451 stttk 0366 5’ RAEKR | —%izshi 92. 4 448. 5 87.11
Tk IR 3304skskrokkktok k0045 7 HAER | —DizshiA 87.8 512.5 87. 09
AR X 210 Taokstofokkok 2223 7 HKARER | —issh i 93.3 430. 5 86. 84
T 3401 ssektsoketsiokk 3526 © AL | —Rizsh i 95. 5 388 86. 25
JER 2 25 Bk 3701 ssteketstoetotokk 01 07 s RAEKR | —%izgsh i 85.5 520. 5 85. 88
B 371 4sksiotok k002 | x© HKARER | —Jisshi 97 351.5 85. 48
8 4401wkt k452 1 5’q KAEK | —Zigshi 86. 4 475 84.23
X AF 3609k kb kxk%0528 7 HARER | —Rizsh i 92. 8 384.5 84.19
ZHE 371 Ttttk 201 7 % HKARER | —Zissh it 96. 1 331.5 83. 85
] 4302k %k K x%%0523 7 HKARER | —Zissh i 90. 8 403. 5 83. 74
R 650 1 setsotorsiolorsiek 0029 7 HARER | —Rizsh i 85. 7 475 83. 74
F 371 Tsokotsolotoiolok 5202 7 HKAER | —DisshiA 96. 3 318 83. 31
I LR 330 1 sokksokrkk 001 | bit HKARER | —Sisshi 85. 6 459 82. 87
T 3T1Gkksriototetiolek 2522 LS AL | —Rizsh i 94. 5 334 82. 85
FEHIfA 3702tk k 8228 s RAER | —%igsh i 90. 5 385. 5 82. 63
F & 371 3kksokkoriokk 3437 W HKARER | —Zissh i 94. 5 328 82. 55
LI 420 Ikskskokkokkk 4422 7 HKARER | —Zissh i 83.3 484 82. 51
L ia 411 Itk 0048 E’8 AR B BE 93.7 327 81. 94
k5 34264 kkAkkdkkAk 321 2 % HARE R —Rizzsh i 91 363.5 81. 88
2512 431 Qsokstolfokkok 2416 Y HKARER | —Zissh i 89. 4 378.5 81.51
PR I 3705kt 0326 ’ AL | —Rizsh i 91.3 347.5 81.29
25 ] 1 102skskskskskotokatok k(08 14 i RARE K — 2RIz sl 96. 1 276 81.07
P 1% 360 Tskkkosokiokk 5724 7 HARE BBk 90. 7 347.5 80. 87
T 371 Haietstopstooikkd 117 % AR E B B 91.9 327.5 80. 71
7% 5% A 110 Letototetiolotork 8349 LS HKAER | —DisshiA 92.3 315 80. 36
TN 5326skksokftkok k2732 W HKARER | —Zissh i 93.5 298 80. 35
FEAE A 131 stk 1 816 5 RAEK | —2izZsh & 93.8 292. 5 80. 29
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4 W55 A | Z3hWE BEFER | MERS | SR | SRE RS #E
X T 3602 %Kk Kk kkk %5252 5 HRARER | —Fizshi 87. 2 385 80. 29
i 3L 511 Taskorletiokotlok 0828 % HKARER | —Zusshi 94. 4 284 80. 28
LS| 3706%kkkkAk k%5226 7 HKARER B 91 330.5 80. 23
JEl A4 4202 kkckoktokoiok 256X % HRARER | —Fizzhi 95. 6 265 80. 17

by il 511 THkskkkrkkk 7457 % HKAER | —Zis3hni 91.7 316.5 80. 02
=44 37045k fkkok k5756 P HKARER | —Jisshi 93.9 277.5 79.61
25 I 130 1 skttt 3057 5 RARER | —Zusshi 89. 6 336 79. 52
BN et 622 Pk kkAkk (0529 7 ALK | —Rizsh i 96. 8 232.5 79. 39
¥R % 4101 stk 0112 5B RARER | —Zizshi 83.7 415.5 79. 37
2 511 7kttt 1 141 5 RARER | —Zusshi 93. 6 276. 5 79. 35
B R 361 stttk | 867 s RARBYT | —Zizshi 93. 1 495. 5 89. 95
Ve 341 sckotolotsokotokok 4538 5 RAEFT | —Zigsh i 92.5 414.5 85. 48
FH 7% 1IN 5106%kskkskskskkkx8225 Be BAREFT —RKizz R 93.4 386 84. 68
FHEH 371 3skskskskskskseskkok5 1 1X ) mw N Edl — 2RIz s 91.8 399 84. 21
R 330 4sckstootsiokotokk 00 1 2 5 EARBT EHEH 91.7 389. 5 83. 67
K 37 1 Takksksrskorkk ] 627 @& EAREST | —iEzh i 93.8 317 81. 51
X 3206%kkskkskkskkkk6 166 Be AR BT — Rz sl 92. 4 324 80. 88
X8 3203skerletiotortor 1 02X 7 HKARBIT | —Zizshi 90. 4 350 80. 78
A R 341 stttk 7570 5B RARBIT | —4usshi 90. 2 347 80. 49
FEE ST 371 Tkttt 6 1 12 5 RARBIT | —Zusshi 94. 7 283 80. 44
B 230 1 ksokksokkrk 1816 LS HRARBET | —Zizshi 92. 6 311 80. 37
G E T 3622 %k gk gk | 33X G HOARHEAT iz B 93.3 299. 5 80. 29
XHLEF 1302sstsktsisotokekk63 1 1 5 RARBIT | —Zussh i 87. 2 381 80. 09
(CIEESAS 3302skksrtoletettolek 1010 % AT | —%izsh i 92. 6 305 80. 07
x5 3920 3skstolotsokokk 31 16 5 RARBIT | —Zissh i 93. 6 285. 5 79.8
Sl R 3708 kskdkskkskokkk 2824 @ BAREFT —RKisd R 89.1 348.5 79. 8

VRS 43053%kskskokskskkkk8 1 78 5 BAEGT | —%izsh i 91.2 318.5 79. 77
S st 330 3skkstekstotokskk 2759 B RABHT | —%izsh i 92.9 289 79. 48

= 341 Gskskoksiork [ 51 1 5 RABAT | —dizssh i 93. 8 276 79. 46
ANyl 341 2kttt 0020 7 RARBT | —Zsshi 95. 6 245. 5 79. 2

5L 371 3sskkok ok k6835 LS HRARBET | —Zizshi 91.6 295. 5 78.9
A9 ik 340 45sktsoktotokk 322 1 7 RAREAT | —issh i 89. 6 320. 5 78.75
X5 341 Bkttt [ 717 5 RAEFT | —%izsh i 90. 58 303 78. 56
ST R 2107 xskskskskkskkk%3026 @ HARBIFT — 2RIz s 92.7 272.5 78. 52
RoEE 371 Taokotoltototokok G 36X s RAEFT | —Zigsh i 91.8 278.5 78. 19
N aik 1309%skkskskskokkk k3455 L AR BT —iasl 89. 2 313 78.09
R 320 3skkskekskokskokiok (0642 T HAREFT —Riasl 91.5 279.5 78.03
{540 %5 341 Bsetsokiokk 832 1 s EARBT S 90.9 286 77.93
FI5)1 361 Iskskstokstookkok 27 1 X L) AR BT —RinEh i 88.9 312.5 77. 86
R 211 Itttk [ 929 x© HKARBHT | —Zisshi 88. 4 315 77.63
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